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$%675$&7
7KLV�UHVHDUFK�DLPV�WR�GHYHORS�D�QHZ�TXDQWLWDWLYH�PHWKRG�WR�GHWHUPLQH�SDLQWLQJ�SULFLQJ�EDVHG�RQ����LQWDQJLEOH�
IDFWRUV�� L�H�� FXUDWRU�� DPRXQW� RI� H[KLELWLRQ�� SDLQWHU·V� \HDU� RI� ELUWK�� SDLQWLQJ·V� \HDUV� RI� PDGH�� DXFWLRQ� UHFRUG��
HVWLPDWLRQ�SULFH��H[KLELWLRQ�SODFH��SDLQWLQJ�PHGLD��SDLQWLQJ�VL]H��DQG�SUHYLRXV�VDOHV�UHFRUG��7KH�VHOOLQJ�SULFH�GDWD�
DUH�REWDLQHG�IURP�VL[�DXFWLRQ�KRXVHV��.DQR�0RGHO�DQG�/LQHDU�5HJUHVVLRQ�0RGHO�DUH�XVHG�WR�H[DPLQH�WKH�UHODWLRQ�
EHWZHHQ�SULFLQJ�DQG�HDFK�YDULDEOH��%DVHG�RQ�WKH�PRGHO�GHYHORSPHQW�VFKHPH��WKHUH�DUH���DOWHUQDWLYH�PRGHOV�WKDW�
FDQ�EH�REWDLQHG��(DFK�PRGHO�WKHQ�ZDV�HYDOXDWHG�E\�FURVV�YDOLGDWLRQ�SURFHGXUH�XVLQJ����GDWD��%DVHG�RQ�WKH�YDOXH�RI�
5�IRU�HDFK�PRGHO��WKH�.DQR�0RGHO�ZLWK�YDULDEOH�SUHYLRXV�VDOHV�LV�WKH�EHVW�PRGHO�ZLWK�5��RI�����

.H\ZRUGV��SULFH��LQWDQJLEOH�IDFWRUV��.DQR�0RGHO��/LQHDU�5HJUHVVLRQ

$%675$.
� 3HQHOLWLDQ� LQL� PHQJHPEDQJNDQ� PHWRGH� NXDQWLWDWLI� XQWXN� PHQHQWXNDQ� SHQHQWXDQ� KDUJD�
OXNLVDQ� EHUGDVDUNDQ� ��� LQWDQJLEOH� IDFWRUV�� DQWDUD� ODLQ� SDQHO� UHNRPHQGDWRU�� MXPODK� SDPHUDQ�� WDKXQ�
ODKLU�VHQLPDQ��WDKXQ�SHPEXDWDQ�NDU\D��DXFWLRQ�UHFRUG��HVWLPDVL�KDUJD��WHPSDW�SHQMXDODQ��PHGLD�\DQJ�
GLJXQDNDQ��XNXUDQ��GDQ�SHQMXDODQ� VHEHOXPQ\D��'DWD�SHQMXDODQ�GLSHUROHK�GDUL� HQDP� WHPSDW� OHODQJ��
3HQHOLWLDQ�LQL�PHQJJXQDNDQ�0RGHO�.DQR�GDQ�5HJUHVL�/LQHDU�%HUJDQGD�XQWXN�PHQJDQDOLVLV�KXEXQJDQ�
DQWDUD�SHQHQWXDQ�KDUJD�GHQJDQ�PDVLQJ�PDVLQJ�YDULDEHO��%HUGDVDUNDQ�NHUDQJND�PRGHO�\DQJ�EHUKDVLO�
GLEDQJXQ��WHUGDSDW�HQDP�PRGHO�DOWHUQDWLI��0DVLQJ�PDVLQJ�PRGHO�GLHYDOXDVL�GHQJDQ�FURVV�YDOLGDWLRQ�
PHQJJXQDNDQ����GDWD��%HUGDVDUNDQ�QLODL�5��PDVLQJ�PDVLQJ�PRGHO��PRGHO�WHUEDLN�GLSHUROHK�GDUL�0RGHO�
.DQR�GHQJDQ�PHQJLNXWVHUWDNDQ�YDULDEHO�SHQMXDODQ�VHEHOXPQ\D��0RGHO�LQL�PHPLOLNL�5������

.DWD�.XQFL��KDUJD��LQWDQJLEOH�IDFWRUV��PRGHO�NDQR��UHJUHVL�OLQHDU
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3(1*$17$5
+DUJD� PHUXSDNDQ� EDJLDQ� ELVQLV� \DQJ�

GDSDW� GLWHQWXNDQ� GHQJDQ� EHUDJDP� VWUDWHJL�
6WUDWHJL� SHQHQWXDQ� KDUJD� \DQJ� ELDVD�
GLODNXNDQ�� DQWDUD� ODLQ�PDUN�XS� SULFLQJ�� WDUJHW�
UHWXUQ� SULFLQJ�� FRPSHWLWLRQ� EDVHG� SULFLQJ�� GDQ�
YDOXH� SULFLQJ� �,UDZDQ�� �������0DUN�XS� SULFLQJ��
GDQ� WDUJHW� UHWXUQ�SULFLQJ�XPXPQ\D�PHQJDFX�
SDGD�NHXQWXQJDQ�\DQJ�GLLQJLQNDQ�DWDV�ELD\D�
\DQJ� WHODK� GLNHOXDUNDQ�� &RPSHWLWLRQ� SULFLQJ�
IRNXV�SDGD�NRPSHWLWRU��WHWDSL�PDVLK�PHQJDFX�
SDGD� ELD\D� \DQJ� GLNHOXDUNDQ�� 6HGDQJNDQ�
YDOXH�SULFLQJ�WLGDN�VHNHGDU�PHPSHUKLWXQJNDQ�
ELD\D��WHWDSL��OHELK�IRNXV�SDGD�DSD�\DQJ�DNDQ�
GLSHUROHK�NRQVXPHQ�NHWLND�PHPEHOL�SURGXN�

9DOXH�SULFLQJ�PHQHWDSNDQ�KDUJD�GHQJDQ�
IRNXV� SDGD� SHODQJJDQ�� 3HQHQWXDQ� KDUJD�
WLGDN� GLPXODL� GHQJDQ� PHQJKLWXQJ� ELD\D�
SURGXNVL�� QDPXQ� EHUXVDKD� PHPEHULNDQ�
MDZDEDQ�DWDV�SHUWDQ\DDQ�SDGD�KDUJD�EHUDSD�
NRQVXPHQ�PDX�PHPED\DU�SURGXN�DWDX� MDVD�
\DQJ�GLWDZDUNDQ��,UDZDQ���������%LD\D�WLGDN�
ODJL� GLSHUKLWXQJNDQ� VHEDJDL� NRPSRQHQ�
XWDPD� KDUJD� NDUHQD� YDOXH� SULFLQJ� GDSDW�
GLGHNDWL� GHQJDQ� DQDOLVLV� QLODL� LQWDQJLEOH��
,VWLODK� LQWDQJLEOH� GLSDKDPL� VHEDJDL� QRQ�
PRQHWDU\�SURÀW�\DQJ�PHPEHULNDQ�QLODL�GL�OXDU�
SURGXN��&DQLEDQR�HW�DO���������$VHW�LQWDQJLEOH�
PHUXSDNDQ�UHSUHVHQWDVL�GDUL�UHSXWDVL��EUDQG��
GDQ�DWULEXW� ODLQ�\DQJ�PHPXQJNLQNDQ�XQWXN�
PHPSHUROHK�SHQGDSDWDQ�\DQJ�OHELK�EHVDU�

3URGXN� NDU\D� VHQL� VHSHUWL� OXNLVDQ�
PHUXSDNDQ� VDODK� VDWX� FRQWRK� SURGXN� \DQJ�
PHPLOLNL� QLODL� LQWDQJLEOH�� 6HFDUD� ILVLN�� NDU\D�
VHQL�KDQ\D�VHGLNLW�PHPEDZD�QLODL�MXDO��%LD\D�
UDZ� PDWHULDO� VHSHUWL� NDQYDV�� NHUWDV�� GDQ� FDW�
XPXPQ\D�NHFLO��0DUVKDOO�GDQ�)RUUHVW���������
$NDQ�WHWDSL��SURGXN�LQL�GLMXDO�GHQJDQ�KDUJD�
WLQJJL� NDUHQD� NRQVXPHQ� PHPED\DU� XQWXN�
VHEXDK�VWDWXV��HVWHWLND��GDQ�KDUDSDQ�DWDV�QLODL�
MXDO�NHPEDOL��9HOWKXLV���������6HFDUD�VLPEROLV��
NDU\D� VHQL� PHPLOLNL� QLODL� WDPEDK� ODLQ� \DQJ�
PHOHELKL�SURGXN�VHFDUD�ILVLN��

%HEHUDSD� IDNWRU� \DQJ� PHPSHQJDUXKL�
KDUJD� SURGXN� OXNLVDQ�� DQWDUD� ODLQ� QDPD�
SHOXNLV�� VXE\HN� OXNLVDQ�� XNXUDQ�� GDQ� VW\OH�
�.RPSDV�� ������ )DNWRU�IDNWRU� WHUVHEXW� WLGDN�

GDSDW� GLSHUKLWXQJNDQ� DWDX� GLXNXU� GDODP�
SURVHV�PHPSURGXNVL�NDU\D�VHQL�VHFDUD� ILVLN��
WHWDSL� PHPEHULNDQ� GDPSDN� SDGD� EHVDU�
NHFLOQ\D�KDUJD�\DQJ�GLWDZDUNDQ�ROHK�SHOXNLV�

7LGDN�VHSHUWL�SURGXN�SDGD�XPXPQ\D��QLODL�
KDUJD�GDUL�VXDWX�NDU\D�VHQL�OHELK�NHSDGD�QLODL�
QLODL� EXGD\D� GDQ� VRVLDO� \DQJ� GLUDVDNDQ� ROHK�
NRQVXPHQ� �6FKRQIHOG�� GNN�� ������� 0HVNLSXQ�
GHPLNLDQ�� LQWDQJLEOH� IDFWRUV� SHQHQWXDQ� KDUJD�
SURGXN� NDU\D� VHQL� WHWDS� PHPLOLNL� DVSHN�
HNRQRPL� \DQJ� GDSDW� GLXNXU�� 3HQGHNDWDQ�
SHQHQWXDQ�KDUJD�GHQJDQ�PHPSHUWLPEDQJNDQ�
IDNWRU� LQWDQJLEOH� SDGD� SURGXN� NDU\D� VHQL�
GLODNXNDQ� ROHK� 0DUVKDOO� GDQ� )RUUHVW� �������
\DQJ� PHQJDQDOLVLV� IDNWRU�IDNWRU� LQWDQJLEOH�
SURGXN� NDU\D� VHQL� GHQJDQ� PHQJJDPEDUNDQ�
VHEXDK�PDUNHW�YDOXDWLRQ�IUDPHZRUN��

'DODP� IUDPHZRUN� WHUVHEXW� GLJDPEDUNDQ�
DVSHN� VRVLRORJLV�� HVWHWLND�� GDQ� WHRUL�
SHPDVDUDQ�� 3HQHQWX� KDUJD� GDODP� IUDPHZRUN�
LQL� WHUGLUL� GDUL� EHEHUDSD� IDNWRU�� DQWDUD� ODLQ�
VHQLPDQ��SURGXN��SHUDQ� LQGXVWUL� NDU\D� VHQL��
GDQ� SHUDQ� SHPEHOL�� $NDQ� WHWDSL�� SHQHOLWLDQ�
WHUVHEXW�PDVLK�VHEDWDV�SHQJJDPEDUDQ�DVSHN�
LQWDQJLEOH��VHFDUD�NXDOLWDWLI��

3HQHQWXDQ� KDUJD� NDU\D� VHQL� \DQJ�
PHOLEDWNDQ�PHWRGH�PDWHPDWLV� GLODNXNDQ�ROHK�
5HGG\�GDQ�'DVV��������\DQJ�PHODNXNDQ�DQDOLVLV�
WHUKDGDS�GLQDPLND�GDUL�SHOHODQJDQ�RQOLQH�SDGD�
VHQL�PRGHUQ�,QGLD�PHQJJXQDNDQ�IXQFWLRQDO�GDWD�
DQDO\VLV��'DUL�SHQHOLWLDQ�WHUVHEXW�GLSHUROHK�KDVLO�
EDKZD�VWDWXV�VHQLPDQ�GDQ�KDUJD�PHPEHULNDQ�
SHQJDUXK� \DQJ� EHVDU� GDODP� OHODQJ�� 3DGD�
WDKXQ� ����� EDKZD� DQDOLVLV� KDUJD� NDU\D� VHQL�
GDODP� NDLWDQQ\D� GHQJDQ� SHQJDUXK� JDOHUL�
GDQ� UHSXWDVL� VHQLPDQ� PHQJJXQDNDQ� PHWRGH�
XQGHUFXW�SURRI�HTXLOLEULXP� �83(��GHQJDQ�WHNQLN�
UHJUHVL�OLQLHU��6FKRQILHOG��GNN���������'L�VLVL�ODLQ��
+RGJVRQ� ������� MXJD� PHQHOLWL� KDUJD� SURGXN�
NDU\D� VHQL� GHQJDQ� RE\HN� OXNLVDQ�OXNLVDQ� GL�
3HUDQFLV�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� UHJUHVL�
KHGRQLN�GDODP�PHQJDQDOLV�GDWD��3HQHOLWLDQ�LQL�
PHQJXQJNDSNDQ� EHEHUDSD� WRORN� XNXU� KDUJD�
OXNLVDQ�� DQWDUD� ODLQ� IDNWRU� SHOXNLV�� WHPSDW�
OXNLVDQ� GLMXDO�� PHGLD� \DQJ� GLJXQDNDQ�� JHQUH��
GDQ�XNXUDQ�
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%HEHUDSD� SHQHOLWLDQ� WHODK� GLODNXNDQ�
PHQJJXQDNDQ� PHWRGH� NXDQWLWDWLI� EHUEDVLV�
UHJUHVL�OLQLHU��3DGD�EHEHUDSD�NDVXV�ODLQ��DQDOLVLV�
SHQJDUXK� IDNWRU� WLGDN� KDQ\D� PHQJDQDOLVLV�
KXEXQJDQ�VHFDUD�OLQLHU��MXJD�QRQ�OLQLHU��6DODK�
VDWXQ\D� DGDODK� DQDOLVLV� NHVXNVHVDQ� SURGXN�
\DQJ� SHQGHNDWDQQ\D� GLODNXNDQ� GHQJDQ�
0HWRGH� .DQR� �3UDPDGDQL�� ������� 0RGHO�
.DQR� DGDODK� PRGHO� \DQJ� GLNHPEDQJNDQ�
XQWXN� PHQJDQDOLVLV� NHLQJLQDQ� SHODQJJDQ�
\DQJ�PHPEDJLQ\D�GDODP�WLJD�NDWHJRUL��\DLWX�
ORJDULWPLN��OLQLHU��GDQ�HNVSRQHQVLDO��

0HWRGH� DQDOLVLV� SHQJDUXK� IDNWRU� \DQJ�
PHOLEDWNDQ� KXEXQJDQ� QRQ�OLQLHU� MXJD�
WHODK� EDQ\DN� GLJXQDNDQ� GDODP� DSOLNDVL�
PRGHO� NXDQWLWDWLI�� +DQ\D� VDMD�� PHWRGH�
LQL� EHOXP� GLDSOLNDVLNDQ� XQWXN� PHQJXML�
KXEXQJDQ� SHQJDUXK� IDNWRU� LQWDQJLEOH� \DQJ�
PHPSHQJDUXKL� SHQHQWXDQ� KDUJD� SURGXN�
NDU\D� VHQL�� 8QWXN� LWX�� DQDOLVLV� IDNWRU�
SHQHQWXDQ� KDUJD� SURGXN� NDU\D� VHQL� PDVLK�
GDSDW�GLNHPEDQJNDQ�GHQJDQ�PHPDQIDDWNDQ�
PHWRGH�\DQJ�PDPSX�PHQJDQDOLVLV�KXEXQJDQ�
QRQ�OLQLHU�VHSHUWL�0RGHO�.DQR�

3URGXN� VHQL� OXNLV� \DQJ� GLMXDO� SDGD�
EHEHUDSD� EDODL� OHODQJ� EDLN� \DQJ� QDVLRQDO�
PDXSXQ� LQWHUQDVLRQDO�� 7HUGDSDW� ��� GDWD�
SHQMXDODQ� VHFDUD� OHODQJ� \DQJ� GLSHUROHK� GDUL�
EHEHUDSD� SHOXNLV� ,QGRQHVLD� GL� EHEHUDSD�
EDODL� OHODQJ�%DODL� OHODQJ� \DQJ� GLDFX� VHEDJDL�
VXPEHU�GDWD�DQWDUD�ODLQ�6RWKHE\¶V��&KULVWLH¶V��
&HPSDND��/DUDVDWL��0DVWHUSLHFH��GDQ�6LGKDUWD��
6RWKHE\¶V� GDQ� &KULVWLH¶V� PHUXSDNDQ� EDODL�
OHODQJ� LQWHUQDVLRQDO� \DQJ� PHPLOLNL� UXDQJ�
SDPHUDQ�GL�EHUEDJDL�NRWD�GL�GXQLD�

3DGD�DUWLNHO�LQL�GLMDEDUNDQ�EHEHUDSD�WDKDS�
DOLU�SHQHOLWLDQ�VHSHUWL�JDPEDU�QRPRU����6HFDUD�
XPXP��SHQHOLWLDQ�GLPXODL�GDUL�SHQJXPSXODQ�
GDWD�KDUJD�MXDO�GDQ�GDWD�YDULDEHO�YDULDEHO�\DQJ�
PHQMDGL� IDNWRU� LQWDQJLEOH�� 6HWHODK� GDWD� GLXML�
EHUGDVDUNDQ�DVXPVL�VWDWLVWLN�\DQJ�GLSHUOXNDQ��
GDWD� GLRODK� EHUGDVDUNDQ� SURVHGXU� PHWRGH�
0RGHO� .DQR� GDQ� 5HJUHVL� /LQLHU� %HUJDQGD�
XQWXN� NHPXGLDQ� GLEDQJXQ� EHEHUDSD� PRGHO�
PDWHPDWLV�� 3HPEDQJXQDQ� PRGHO� GLODNXNDQ�
GHQJDQ� GXD� SHUODNXDQ� GDWD�� \DLWX� GDWD�
WDQSD� VWDQGDUGLVDVL� VNDOD� XQWXN� PDVLQJ�

PDVLQJ� YDULDEHO� GDQ� GDWD� GHQJDQ� VNDOD�
VWDQGDU�XQWXN�VHPXD�YDULDEHO��6HWHODK�PRGHO�
GLEDQJXQ�� GLODNXNDQ� SHQJXMLDQ� EHEHUDSD�
PRGHO� PHQJJXQDNDQ� SDUDPHWHU� 5�� GDQ�
YDOLGDVL�VLODQJ��%HUGDVDUNDQ�SHQJXMLDQ�PRGHO��
GLSLOLK� VDWX� PRGHO� \DQJ� GDSDW� PHPEHULNDQ�
NHPDPSXDQ�SUHGLNVL�KDUJD�WHUEDLN�

*DPEDU����'LDJUDP�$OLU�3HQHOLWLDQ

3(0%$+$6$1
0RGHO� GLEDQJXQ� EHUGDVDUNDQ� NHUDQJND�

SHPEDQJXQDQ�PRGHO�SDGD�*DPEDU�QRPRU����

*DPEDU����.HUDQJND�3HPEDQJXQDQ�0RGHO

Mulai

Data harga dan

faktor-faktor

intangibie

Klasifikasi faktor-faktor

berdasarkan

pola Model Kano

intangibie

Pembangunan alternatif

model menggunakan

Model Kano

Pembangunan alternatif

model menggunakan

Regresi Linier

Pengujian model

Pemilihan model

Selesai

Model Penentuan
Harga Produk

Mode Kano

Registrasi Linier
Berganda

Model Kano Tanpa
Standari sasi Skala

Model Kano
Skala Standar

Model Kano
dengan Variabel

Previous Sales

Regresi Linier Tanpa
Standarisasi Skala

Regresi Linier
Skala Standar

Regresi Linier
dengan Variabel

Previous Sales
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%HUGDVDUNDQ� NHUDQJND� SHPEDQJXQDQ�
PRGHO� WHUVHEXW� WHUGDSDW� �� �HQDP�� PRGHO�
\DQJ� EHUKDVLO� GLEDQJXQ� GDUL� 0RGHO� .DQR�
GDQ� 5HJUHVL� /LQLHU�� 0DVLQJ�PDVLQJ� PHWRGH�
PHPLOLNL� �� �WLJD�� MHQLV�SHUODNXDQ�GDWD�� \DLWX�
PRGHO�GHQJDQ�GDWD�DVOL� �WDQSD�VWDQGDUGLVDVL�
VNDOD��� PRGHO� GHQJDQ� VNDOD� VWDQGDU�� GDQ�
PRGHO� GHQJDQ� WDPEDKDQ� YDULDEHO� SUHYLRXV�
VDOHV�� 9DULDVL� SHQJRODKDQ� GDWD� GLODNXNDQ�
XQWXN� PHQGDSDWNDQ� SHUEDQGLQJDQ� PRGHO��
VHKLQJJD�GDSDW�GLSHUROHK�PRGHO�\DQJ�WHUEDLN�

0RGHO� GLEDQJXQ� GDUL� õ� GDWD� \DQJ�
GLSHUROHK�� GDQ� VLVDQ\D� GLJXQDNDQ� XQWXN�
YDOLGDVL��0DVLQJ�PDVLQJ�PRGHO�PHPEHULNDQ�
NRHILVLHQ� GHWHUPLQDVL� \DQJ� EHUEHGD�EHGD�
VHSHUWL�\DQJ�GLWXQMXNNDQ�SDGD�7DEHO�����

7DEHO����
+DVLO�5��0DVLQJ�0DVLQJ�0RGHO

0RGHO 5�

0RGHO�.DQRWDQSD�
VWDQGDUGLVDVL�VNDOD

����

0RGHO�.DQR�VNDOD�VWDQGDU ����

0RGHO�.DQRGHQJDQ�YDULDEHO�
SUHYLRXV�VDOHV

����

5HJUHVL�/LQLHU�%HUJDQGD�WDQSD�
VWDQGDUGLVDVL�VNDOD

����

5HJUHVL�/LQLHU�%HUJDQGD�VNDOD�
VWDQGDU

����

5HJUHVL�/LQLHU�%HUJDQGD�
GHQJDQ�YDULDEHO�SUHYLRXV�VDOHV

����

.HPDPSXDQ� SUHGLNVL� PDVLQJ�PDVLQJ�
PRGHO� GLXML� GHQJDQ� YDOLGDVL� VLODQJ� KROGRXW�
PHQJJXQDNDQ� ô� GDWD� �+DLU�� GNN�� �������
+DVLO� YDOLGDVL� PHPEHULNDQ� QLODL� 5�� \DQJ�
GLWDPSLONDQ�SDGD�7DEHO�����

7DEHO���
�5��9DOLGDVL

0RGHO 5�

0RGHO�.DQR�WDQSD�VWDQGDUGLVDVL�
VNDOD

����

0RGHO�.DQR�VNDOD�VWDQGDU ����

0RGHO�.DQR�GHQJDQ�YDULDEHO�
SUHYLRXV�VDOHV

����

5HJUHVL�/LQLHU�%HUJDQGD�
WDQSD�VWDQGDUGLVDVL�VNDOD

����

5HJUHVL�/LQLHU�%HUJDQGD�VNDOD�
VWDQGDU

�����

5HJUHVL�/LQLHU�%HUJDQGD�GHQJDQ�
YDULDEHO�SUHYLRXV�VDOHV

����

%HUGDVDUNDQ�SHQJXMLDQ�NRHILVLHQ�GHWHUPLQDVL�
GDQ�HYDOXDVL�SUHGLNVL�GHQJDQ�YDOLGDVL�VLODQJ��
PRGHO� \DQJ� GDSDW� PHUHSUHVHQWDVLNDQ� GDWD�
VHFDUD� NHVHOXUXKDQ� DGDODK� 0RGHO� .DQR�
GHQJDQ� YDULDEHO� SUHYLRXV� VDOHV�� 0RGHO� LQL�
PHQJKDVLONDQ�QLODL�5�� �����GDQ�PHPEHULNDQ�
KDVLO� SUHGLNWLI� WHUWLQJJL� GL� DQWDUD� PRGHO�
PRGHO�ODLQ��\DLWX������

0RGHO� .DQR� WHUVHEXW� WHUGLUL� GDUL� ��
�WLJD�� SHUVDPDDQ� XQWXN� PDVLQJ�PDVLQJ�
NDWHJRUL�� 3HUVDPDDQ� XQWXN� NDWHJRUL� PXVW�
EH� GLWXQMXNNDQ� SDGD� SHUVDPDDQ�� \DLWX�
WDEHO� QRPRU� ��� .DWHJRUL� WHUVHEXW� WHUGLUL� GDUL�
YDULDEHO� EDQ\DNQ\D� SDPHUDQ�� WDKXQ� ODKLU��
DXFWLRQ� UHFRUG�� WDKXQ� SHPEXDWDQ�� HNVSHNWDVL�
KDUJD� PLQLPDO�� GDQ� XNXUDQ�� 3HUVDPDDQ�
NDWHJRUL� RQH�GLPHQVLRQDO� WHUGLUL� GDUL� YDULDEHO�
EDODL�� PHGLD�� GDQ� SUHYLRXV� VDOHV� GLWXQMXNNDQ�
SDGD� SHUVDPDDQ� WDEHO� QRPRU� ��� � .HPXGLDQ�
SHUVDPDDQ� NDWHJRUL� HNVSRQHQVLDO� \DQJ�
WHUGLUL�GDUL�YDULDEHO�FXUDWRU�GLWXQMXNNDQ�ROHK�
SHUVDPDDQ�QRPRU����WLJD��GL�EDZDK�LQL�

�

�

6HFDUD� NHVHOXUXKDQ�� 0RGHO� .DQR� \DQJ�
PHOLSXWL� NDWHJRUL� PXVW� EH�� RQH�GLPHQVLRQDO��
GDQ� HNVSRQHQVLDO� WHUVHEXW� GLWXQMXNNDQ� ROHK�
SHUVDPDDQ��GL�EDZDK�LQL�

Y = 183567 + 61961,87 [ln(X] ) + 9725,87ln(x )1 2 3

+5553,78 [ln(X] )+100708,3 [ln(X] )3 6

+417985,1ln(X ) - 39757,3ln(X )7 11 (3.1)

Y = -91108 + 39894.98X + 23896.91X2 9 10

+505546.7X12 (3.2)

Y = 22855,853 e1,
51X

1 (3.3)

Y = -64360 + 6101,52ln(Y )+0,91Y2 1 2

+0,0036e
0,00016Y3 (3.4)
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6,038/$1
'DUL� KDVLO� GDQ� SHPEDKDVDQ� \DQJ� WHODK�

GLODNXNDQ� GDSDW� GLVLPSXONDQ� VHEDJDL�
EHULNXW��SHUWDPD��)DNWRU�IDNWRU�LQWDQJLEOH�\DQJ�
PHPSHQJDUXKL� SHQHQWXDQ� KDUJD� SURGXN�
WHUGLUL� GDUL� �� �WLJD�� IDNWRU�� \DLWX� IDNWRU�
VHQLPDQ��IDNWRU�SURGXN��GDQ�IDNWRU�SHUDQWDUD��
)DNWRU� VHQLPDQ� GDSDW� GLOLKDW� GDUL� NXUDWRU��
EDQ\DNQ\D� SDPHUDQ�� DXFWLRQ� UHFRUG�� XVLD�
VHQLPDQ�� WDKXQ� SHPEXDWDQ� NDU\D�� HVWLPDVL�
KDUJD� VHQLPDQ�� GDQ� SUHYLRXV� VDOHV�� )DNWRU�
SURGXN�GDSDW�GLOLKDW�GDUL�XNXUDQ�NDU\D�GDQ�
PHGLD�\DQJ�GLJXQDNDQ��6HGDQJNDQ�SHUDQWDUD�
GLWLQMDX�GDUL�WHPSDW�SHQMXDODQ�

.HGXD�� 7HODK� EHUKDVLO� GLEDQJXQ� PRGHO�
PDWHPDWLV� \DQJ� GDSDW� GLJXQDNDQ� XQWXN�
PHPSUHGLNVL� KDUJD� SURGXN� NDU\D� VHQL�
EHUGDVDUNDQ� IDNWRU�IDNWRU� LQWDQJLEOH�� 0RGHO�
WHUEDLN� GLSHUROHK� GDUL� 0RGHO� .DQR� \DQJ�
WHUGLUL� GDUL� ��� YDULDEHO� GHQJDQ� NHPDPSXDQ�
SUHGLNWLI�VHEHVDU������.HPDPSXDQ�SUHGLNWLI�
LQL�OHELK�EHVDU�GDULSDGD�PRGHO�\DQJ�GLEDQJXQ�
GHQJDQ� 5HJUHVL� /LQLHU�� %HUGDVDUNDQ� PRGHO�
WHUVHEXW�� IDNWRU� LQWDQJLEOH� \DQJ� WHUPDVXN�
GDODP� NDWHJRUL� PXVW� EH� DGDODK� EDQ\DNQ\D�
SDPHUDQ�� WDKXQ� ODKLU�� WDKXQ� SHPEXDWDQ��
DXFWLRQ� UHFRUG�� HVWLPDVL� KDUJD� PLQLPDO�� GDQ�
XNXUDQ�� 9DULDEHO� \DQJ� GLNDWHJRULNDQ� GDODP�
NDWHJRUL� RQH�GLPHQVLRQDO� DGDODK� EDODL� OHODQJ�
GDQ�PHGLD�� 6HGDQJNDQ� DWWUDFWLYH� WHUGLUL� GDUL�
YDULDEHO�UHNRPHQGDWRU�

8QWXN� LWX�� 3HUOX� DGDQ\D� SHQ\HVXDLDQ�
�MXVWLÀFDWLRQ�� \DQJ� OHELK� GHWLO� GDODP�
PHQJKLWXQJ�PDVLQJ�PDVLQJ�YDULDEHO��VHSHUWL�
PHPEHULNDQ� SHPERERWDQ�� 'DWD� KDUJD�
PHQJJXQDNDQ�GDWD�SHQMXDODQ�GL�JDOHUL��XQWXN�
PHQJHWDKXL� DSDNDK� WHUGDSDW� SHUEHGDDQ�
NHWLND� VXDWX� NDU\D� VHQL� GLSHUMXDOEHOLNDQ� GL�
EDODL�OHODQJ�DWDX�GL�JDOHUL�XPXP��.HPXGLDQ�
GHQJDQ� PHOLEDWNDQ� IDNWRU� NRQVXPHQ� \DQJ�
PHPEHOL�SURGXN�NDU\D�VHQL��NDUHQD�NRQVXPHQ�
MXJD�PHPSHQJDUXKL�SHQHQWXDQ�KDUJD�SURGXN�
NHWLND�WHUMDGL�SHQDZDUDQ�SDGD�SURVHV�OHODQJ�

'$)7$5��3867$.$
&DQLEDQR��/��*DUFLD�$\XVR��0��GDQ�6DQFKH]��

0���������³$FFRXQWLQJ�IRU�,QWDQJLEOHV��
$� /LWHUDWXUH� 5HYLHZ´�� -RXUQDO� RI�
$FFRXQWLQJ�/LWHUDWXUH���������������

+DLU��-��%ODFN�:�&���%DELQ��%�-���GDQ�$QGHUVRQ��
5�(��� ������ ³0XOLYDULDWH� 'DWD�
$QDO\VLV´��1HZ�<RUN�3UHQWLFH�+DOO��

+RGJVRQ�� '��� ������ ³$Q�$QDO\VLV� RI� 3ULFLQJ�
DQG� 5HWXUQ� LQ� 7KH� 0DUNHW� IRU�
)UHQFK�&DQDGLDQ�3DLQWLQJ´��$SSOLHG�
(FRQRPLF������������

,UDZDQ�� +DQGL�� ������ ³:LQQLQJ� 6WUDWHJ\´��
*UDPHGLD�3XVWDND�8WDPD��-DNDUWD�

.RPSDV�� ������ /XNLVDQ� %LVD� -DGL� ,QYHVWDVL�
%HUQLODL� 0LO\DUDQ�� >GLDNVHV� SDGD� ���
1RYHPEHU� ����� SXNXO� ������ :,%@�
85/�� KWWS���QDVLRQDO�NRPSDV�
FRP�UHDG���������������������
IXQFWLRQ�VLPSOH[PO�ORDG�ILOH�

0DUVKDOO�� .�� 3� GDQ� )RUUHVW�� 3�� -��� ������ � ³$�
)UDPHZRUN� IRU� ,GHQWLI\LQJ� )DFWRUV�
7KDW� ,QIOXHQFH� )LQH� $UW� 9DOXDWLRQV�
)URP� $UWLVW� WR� &RQVXPHUV´�� 7KH�
0DUNHWLQJ� 0DQDJHPHQW� -RXUQDO�� 9RO�
����1R������������

2¶1HLO�� .�� 0�� ������ ³&RQWH[W� 2I� ([FKDQJH�
$QG� 7KH� 3ULFLQJ� 2I� 9LVXDO� $UW´��
8QLYHUVLW\�RI�$UL]RQD�

3UDPDGDQL�� $�� ,��� ������ 0RGLÀNDVL� 0RGHO�
0DWHPDWLV� .HVXNVHVDQ� 3URGXN� %HUEDVLV�
0RGHO� .DQR�� 7XJDV� $NKLU�� 3URJUDP�
6WXGL� 7HNQLN� ,QGXVWUL�� 8QLYHUVLWDV�
*DGMDK�0DGD��<RJ\DNDUWD�

5HGG\�� 6�� .� GDQ�'DVV��0��� ������ ³0RGHOLQJ�
2Q�/LQH�$UW�$XFWLRQ�'\QDPLFV�8VLQJ�
)XQFWLRQDO�'DWD�$QDO\VLV´��6WDWLVWLFDO�
6FLHQFH��9RO����1R������������

:LWWHQ�� /� GDQ� )UDQN�� (��� ������ ³'DWD�
0LQLQJ�� 3UDFWLFDO� 0DFKLQH� /HDUQLQJ�
7RROV� DQG� 7HFKQLTXHV� :LWK� -DYD�
,PSOHPHQWDWLRQ´�� 8QLYHUVLW\� RI�
:DLNRWR��1HZ�=HODQG�
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6FKRQIHOG�� 6� GDQ� 5HLVWDOOHU�� $��� ������
³7KH� (IIHFW� RI� *DOOHU\� DQG� $UWLVW�
5HSXWDWLRQ�RQ�3ULFHV� LQ� WKH�3ULPDU\�
0DUNHW�IRU�$UW��D�1RWH´��6FLHQFH�DQG�
%XVLQHVV�0HGLD��9RO�������������

9HOWKXLV��2ODY��������³6\PEROLF�0HDQLQJ�2I�
3ULFHV�� &RQVWUXFWLQJ� WKH� 9DOXH� RI�
&RQWHPSRUDU\� $UW� LQ� $PVWHUGDP�
DQG�1HZ�<RUN�*DOOHULHV´��7KHRU\�DQG�
6RFLHW\��9RO�����1R������������


